REF 5.0
NO. PART NO. PART NAME QTY. 2172
1.  E00-2409 BOLT 1/8 X 1=5/B.ccecenceccecnccnsnncnssd 7 fﬁ)\\ ]
2. E00-2406 BOLT 1/4 X 1=1/8..ccuveennvonnneannonns .10 \
3. E00=2308 BOLT 3/16 X 1=5/B.cveecnvecrcccennanneesl 4 %J _ e
4. E00-2501 BOLT 5/16 X 1/2 W/SAFETY WIRE...e.00000.2 7 J
5. E00-2305 BOLT 3/16 X 1=1/8cevceeccecsvsaccennsasal .
6. E00=4701 WASHER 1/2 I.DuveceecoroncecsncoasnssnseB :
7. E00-2408 BOLT 1/4 X 1-1/2 FULL THREAD.....00.c...4 @
8. E16-3130 FOOT PEDAL TUBE.eveoocccceosososroosessesed '
9. E16=5100 FOOT PEDAL. ++svveeeeecnennnnnnaens Ceeen " 174 DtA:-\ ¢
10. E16-1190 NYLON PIVOT BUSHING.....c0eeoeconnoosses2 ‘P{ + ‘H‘@] HOLE 7
11. E16-6131 CROSS SHAFT MOUNT BUSHING ALUMINUM......2 BTN I 3 /3
12. E16-3101 FOOT PEDAL CROSS SHAFT.....ceecenvececasl T : P ——~1~—-— 1/4 DIA. — = E
13. E16-3150 SCISSOR BEAM (PASSENGER)....evoeeoceesssl TYP . |
14. E16-3120 SCISSOR BEAM (PILOT).c.voco.. S | ; + ._:X.})_
15. E32-3150 BODY SUPPORT ADJUSTMENT PADS...¢c0c0cevs.d !
16. E16-3110 FOOT PEDAL SPACER (CUT TO LENGTH).......5 + A t
17. E16-6120 NYLON SCISSOR BEAM PIVOT BUSHING..:......4 hd
18. E16-6130 ALUM. SCISSOR MOUNT BUSHING.....eo0vvese2 | | 5/8 TYP.
19, E16-1200 3/16 FEMALE ROD END....coesoo . 1 ‘ l .
20. E16-1130 1/4 MALE ROD END.vveveeovornooncnnonnosod 3/8
21. E16-1140 1/4 FEMALE ROD END..vvvvvenvsncsvcnnsnssd A Q
NOTE: DO NOT LOCATE AND DRILL THIS HOLE
, UNTIL YOU ARE READY TO INSTALL THE .
3/16 DIA, DRILL | FIBERGLASS FLOOR PAN,
ON ASSEMBLY 'SLOTS IN THE FLOOR PAN WILL HELP DICTATE
N ASSEMBL i THE PROPER PEDAL LOCATIONS.
27 PEOR. ~ ~
i , e B
//\\ ~ (RIGHT PEDAL ONLY)| — + ¢
—_ — 4 —— t T
| L B
\\\\\ @/ - / ) .
A :
\\\\\‘ . | é % T -  ,
\’)O\ \\,) ‘ / . +
> .
o @ |
’ ' SPACER BETWEEN PEDALS TO BE
3 CENTERED ON HOLE IN BRACKET
fo—o2 %- - TYP. 2 PLCS.
. HOLD THIS DIM.
| C
: . : 1‘% APPROX. (TYP. BOTH ENDS)
28 7/8 BETWEEN BRACKETS
‘ 8" APPROX - : ADD SAFETY WIRE
stle DIA.SEE NOTE A {
T DO NOT ODRILL THIS HOLE . ‘
| UNLESS INSTALLING DUALS \ ~
A —£— 28 5/8 LENGTH OF PEDAL SHAFT
SEE TEMPLATE s ) . .
El6-2 ; ,
2172 - ‘
174 DIA; TYP |
L Y 2 PLCs, D
S .
5.0 %—usso WITH DUAL CONTROL ONLY
s 4 5 :%@TYR 2 PLCS. \
==
i :
» Y
|
y
/ N 1T S E
£ 5y &= =
, . |
e 5%8 TYP, S— —
APPROX. ROTORWAY INTERNATIONAL ,
ONLY PHOENIX, ARIZONA
SCALK: NONE APPROVED 8Y: DRAWN BY 03 p4 MY
oare: 2 -1-91 /j’/ép/d REVISED 5-2_94
DIRECTIONAY CONTROL
[5-2-54 REVISION 1. PADS (5 ADDED ) jE16-2000
b ’X . ﬁl\., ) j e ‘ B - - U R N _ [ a . . e - . ef. e d v ek . v



